E-Series Accessories 6

www.powerjacks.com

End Fittings 57

Model E2626 E2501 E1802 E1805 E1810 E1820 E1830 E1850 E18100
DA 65 80 100 120 150 170 240 280 380
7B 25 30 40 50 65 75 110 150 200
© 21 24 313 36.5 42 58 67 92 127
D 8 10 12 16 20 25 30 35 75
% PE 1" 13.5 18 22 26 33 33 51
ED-_ @F (PCD) 45 55 70 85 110 120 170 215 290
s L M10x 15 | M12x1.75 | M20x25 M24 x 3 M36 x 4 M48 x 5 M72 x 4 M100 x 4 M125x 4
M# Upright 95 125 145 185 200 265 325 390 560
Inverted 40 45 55 65 80 95 115 150 260
N#2 Upright - 150 175 218 252 338 445 - -
Inverted - 45 55 65 80 95 115 - -
Model E2625 E2501 E1802 E1805 E1810 E1820 E1830 E1850 E18100
DA 10 12 16 20 22 30 45 60 90
oB 25 30 40 50 65 75 110 150 200
© 56 63 79.5 91.5 120 143 167 217 297
D 30 36 46 60 66 80 120 150 210
E E 15 18 23 30 33 40 60 75 105
2 L M10x 1.5 | M12x1.75 | M20x2.5 M24 x 3 M36 x 4 M48 x 5 M72 x 4 M100 x 4 M125 x 4
g J 15 20 30 35) 40 50 80 110 140
M# Upright 115 145 170 210 245 310 365 440 625
Inverted 60 65 80 90 125 140 155 200 325
N#2 Upright - 170 200 243 297 383 485 - -
Inverted - 65 80 90 125 140 155 - -

E2625 E2501 E1802 E1805

A 10 12 20 25 35 50

B 10 12 20 25 35 50

c 20 24 40 50 70 96

D 40 48 80 100 144 192

E 20 24 40 50 72 96

E F 15 18 30 36 54 73

=< G 52 62 105 132 188 265

s 0J 18 20 34 42 60 82
L M10x 1.5 | M12x1.75 | M20x 2.5 M24 x 3 M36 x 4 M48 x 5

M Upright 114 148 194 248 302 400

Inverted 59 68 104 128 182 230

N#2 Upright - 173 224 281 354 473

Inverted - 68 104 128 182 230

E1830

ysanbay uo ajgejeAy

E1850

1sanbay uo s)qejieay

E18100

>
<
=N
o
o
®
o
=}
Py
©
o
=
®
0
u

E2625 E2501 E1802 E1805 E1810 E1820 E18100
A 43 50 77 9% 125 160
9B 10 12 20 25 35 50
€ 15 18 27 32 42 60
) 29 34 53 64 82 112
F - 23 40 48 60 68 Z Z Z
96 19 22 35 42 58 75 ) ) )
i o o o
Ay H 9 10 16 20 25 35 @ @ @
3 J 7 8 13 17 21 30 5 5 5
E 3 2 3
K 17 19 32 36 50 65 S S S
L M10x15 | M12x1.75 | M20x 1.5 M24 x 2 M36 x 3 M45 x 3 a a ]
. Upright 117 150 190 242 283 367
Inverted 62 70 100 122 163 197
. Upright - 175 220 275 335 440
Inverted - 70 100 122 163 197
Note

1. M =For Machine Screw Jacks
2. N =For Ball Screw Jacks, Standard Lead only.






